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 SEQ CHAPTER \h \r 1

is the nominative subject from the neuter plural demonstrative pronoun HOSTIS, meaning “These statements” and refers to the previous statements of the last sentence.

 is the third person singular present active indicative from the verb EIMI, meaning “is, are” plus the nominative neuter plural present passive participle from the verb ALLEGOREW, which means “to speak allegorically.”  This is the only use of this word in Scripture.  This construction (EIMI with a participle) is called a periphrastic, which occurs in all languages.  It is a devise for emphasis, when a single verb will not convey the full impact of the thought.


The present tense of EIMI is an effective or aoristic present, which states a fact without any reference to its progress.


The active voice indicates that these statements produce action.


The indicative mood is declarative for a simple statement of fact and forms the present periphrastic.


The present tense of the participle is a descriptive present for what is now going on.


The passive voice indicates that these two statements of the previous verse receive the action of being allegories.


The participle is circumstantial and forms the present periphrastic.

“These statements are to be taken allegorically;”
is the postpositive inferential particle GAR, meaning “for” plus the nominative subject from the feminine plural demonstrative pronoun HOUTOS, meaning “these statements.”
is the third person plural present active indicative from the verb EIMI, meaning “to be, are.”  The explicative use of this verb, as in parables, figures, types, etc. (Mt 13:19ff; 1 Cor 9:2, 10:4, 11:25, Rev 17:15) might be better translated here “to represent.”


The present tense is an effective or aoristic present, which states a present fact without reference to its progress.


The active voice indicates that these women of the previous verse produce the action.


The indicative mood is declarative for a simple statement of fact.

is the predicate nominative from the feminine plural adjective DUO, meaning “two” plus the plural noun DIATHĒKĒ, meaning “disposition, testament, will; convention, arrangement, covenants.”

“for these statements represent two covenants:”
is the postpositive correlative particle MEN from the fifth century BC Attic Greek, meaning “on the one hand” plus the nominative subject from the feminine singular adjective HEIS, meaning “one” and referring to one covenant about to be mentioned.

is the preposition APO plus the ablative of origin/source from the neuter singular noun OROS and the proper name SINA, meaning “from Mount Sinai.”

 is the preposition EIS plus the accusative of result from the feminine singular noun DOULEIA, which means “resulting in slavery.”

 is the nominative feminine singular present active participle from the verb GENNAW, which means “to bring forth, to bear children.”


The nominative feminine singular refers to Hagar.


The present tense is an aoristic present which involves a simple expression of undefined action in the present without any reference to its progress.


The active voice indicates that the covenant from Mt. Sinai produces the action.


The participle is circumstantial.

“on the one hand one covenant from Mount Sinai bearing children resulting in slavery”
is the nominative subject from the feminine singular indefinite relative pronoun HOSTIS, meaning “which” and referring back to the feminine singular MIA, translated “one” which refers back to the feminine singular DIATHĒKĒ, translated “covenant,” hence “which covenant.”

is the third person singular present active indicative from the verb EIMI, which means “to be; is.”  The explicative use of this verb, as in parables, figures, types, etc. (Mt 13:19ff; 1 Cor 9:2, 10:4, 11:25, Rev 17:15) might be better translated here “represents.”


The present tense is a static present for a condition which perpetually exists.


The active voice indicates that the covenant produces the action of representing Hagar.


The indicative mood is declarative for a simple statement of fact.

 is the predicate nominative from the feminine singular proper name HAGAR.

“which covenant represents Hagar.”
Gal 4:24 corrected translation
“These statements are to be taken allegorically; for these statements represent two covenants: on the one hand one covenant from Mount Sinai bearing children resulting in slavery, which covenant represents Hagar.”

Explanation:
1.  Paul now explains that he is using allegory to teach.


a.  An allegory is expression by means of symbolic figures and actions of truths or generalizations about human conduct or experience; a symbolic representation.  The word ;allegorical; is defined in Webster’s Seventh New Collegiate Dictionary as “having hidden spiritual meaning transcending the literal sense of a sacred text.”


b.  Paul is not thinking of allegory in the way that allegory was used by Philo of Alexandria, in which everything had a double, hidden meaning, which destroyed the literal sense of the interpretation.  Instead, Paul has in mind that form of allegory, which is commonly called typology: an aspect of the mystery doctrine of the Church Age illustrated by a narrative from Old Testament history.


c.  The statements to which Paul is referring are his statements in the previous verse. “But on the one hand the one was born by the young slave girl according to the flesh, but on the other hand the other one by the free woman because of the promise.”


d.  The fact that Ishmael was born according to the flesh and the fact that Isaac was born because of the promise of God are symbolic representations for unbelievers and believers during the Church Age and for degenerate believers and mature believers of the Church Age.  Paul uses this allegory to set up a contrast between legal bondage and spiritual freedom


e.  Paul’s statements have a hidden spiritual meaning transcending the literal sense of the text.



(1)  Ishmael represents the unbeliever and/or the degenerate believer who cannot be distinguished from the unbeliever.  Isaac represents the believer as opposed to the unbeliever and/or the mature believer in contrast to the degenerate believer.



(2)  Ishmael represents the legal bondage of the Mosaic Law, while Isaac represents the spiritual freedom of the mystery doctrine of the Church Age.

2.  Paul then begins the explanation of the allegory.


a.  These statements represent two covenants or promises of God.


b.  The first covenant or promise of God is related to spiritual death.



(1)  The covenant that came from Mount Sinai is the Mosaic Law, which taught all mankind their sinfulness and need for a savior.



(2)  This covenant or promise is represented by the person of Hagar, who never believed in Christ.



(3)  This covenant gave birth to children – the Jews – who were slaves to the Mosaic Law.



(4)  Paul makes the Jews, who became slaves to the Mosaic Law, the covenant at Sinai, analogous to Hagar, an unbelieving Gentile.


c.  The second covenant or promise of God is related to spiritual life, the new birth – our eternal salvation through faith alone in Christ alone.


d.  So Paul’s allegory or comparison, in this case, is between spiritually dead Hagar as an unbeliever and the legalistic Jews in Jerusalem who are attempting to live the Christian way of life apart from the spiritual life of the Church Age.

3.  The argument of the Judaizers is this:


a.  Abraham had two sons, one by a slave and one by a free woman.


b.  Isaac was the ancestor of the chosen people – the Jews.


c.  The Ishmaelites are Gentiles and unbelievers.


d.  The Jews are the children of the free woman; the Gentiles are the children of the slave woman.


e.  The Jews have received the liberating knowledge of the Mosaic Law.


f.  The Gentiles are in bondage to ignorance and sin.


g.  The Jews are the people of the covenant.


h.  You Gentiles in Galatia are not sons of Abraham by natural descent, as Isaac was; yet there is hope for you.  You can be adopted into Abraham’s family by circumcision and so enjoy the covenant promises given to Abraham and his descendants.  By accepting circumcision you align yourselves with the church of the circumcised in Jerusalem, the mother-church of all true followers of Christ.


i.  You must become like the Jews to benefit from the promises of God, such as, the spiritual life of the Church Age.

4.  The argument of Paul against the Judaizers is this:


a.  The people of the Mosaic Law – the Jews – are the offspring of the slave woman.


b.  The children of the free woman are those who embrace the gospel of justification by faith alone in Christ alone.


c.  Most of the children of the free woman are Gentiles rather than Jews.


d.  Salvation through the ritual observance of the Mosaic Law and the promise of salvation through faith in Christ are antithetical in Paul’s thinking.


e.  Therefore, Paul argues that the people of the Law belong to Hagar’s family, while the people of the free woman are those who believe in Paul’s message of salvation through faith alone based on grace, and totally apart from works.


f.  The gospel is the fulfillment of the promise made to Abraham, that in him and his offspring all the nations of the earth would be blessed.  The Law, which was given later, was a parenthetical dispensation introduced by God for a limited purpose.  Its validity continued only until the promise of Abraham was fulfilled in Christ.
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